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GENERAL STUDIES

1. The Second Backward Class B.P. 5. The Kalasa-Banduri water dispute
Mandal Commission was is in between which of the
appointed and submitted its report following States ?
in (1) Karnataka — Andhra Pradesh

(1) 1978 and 1980
(2) 1979 and 1980
(3) 1980 and 1981
(4) 1976 and 1980

(2) Karnataka— Goa
(3) Karnataka —Kerala
(4) Karnataka—Tamil Nadu (Chennai)

2. The concept of sustainable 6. The Nugu Project is located in
development formed the basis of (1) Birwal village
the

(2) Khurad village
(3) Khirvillage
(4) ~Munolivillage

(1) World Bank’s Conference on
Environment and Development
Initiative, 1992

(2) United Nations Conference

on Environment and 7.. In which of the following year
Development, 1992 Karnataka State Tourism
(3) WTO Conference on Development  Corporation s
Sustainable  Development, established ?
1992 (1) 1971 (2) 1970
(4) OECD Conference on
Development and Environment, (3) 1973 (4) 1974
1992
8. Which is the longest National
3. The Central Warehousing Highway of Karnataka ?
Corporation was set up on (1) NH17 (2) NHO
(1) March2, 1357 (3) NH13 (4) NH218

(2) January 14, 1965
(3) October 2, 1965
(

4) January 26, 1964 9. According to the new estimates,

the drop out rates in classes
between I-X, during 2009-10, of all

4. Which of the following periodical categories of students in Karnataka

winds blowing the sea to land

) ) State is
cause summer monsoon in India ?
(1) East-west  (2) North-east (1) 3218 (2) 3846
(3) South-west (4) South-east (3) 4234 (4) 46.62
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10. Heliophytes are group of plant 15.
that,
(1) Perform best under lower
light intensities
(2) Perform best under full
sunlight
(3) Cannot survive under full sun
light
(4) None of these
11. Troposphere extends approximately
to a distance of km above
the earth surface.
(1) 50-80
(2) 80-100
(3) more than 100
(4) 8-12
12. The atmospheric pressure in the
troposphere with increase
in the altitude. 16.
(1) increases
(2) decreases
(3) varies
(4) does no change
13. Ozone layer is situated in
(1) Troposphere
(2) Mesosphere
(3) Thermosphere
(4) Exosphere
14. Which one of these are the most
important west flowing rivers ?
(1) Cauvery, Netravathi, Bhima,
Krishna
(2) Kali, Netravathi, Aghanashini,
Sharavati
(3) Krishna, Cauvery, Tungabhadra,
Godavari
(4) Krishna, Bedti, Netravathi,
Sharavathi
93 (5-A)
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The following are the implications
of the 73" and 74" Amendment
Acts of the Constitutional Status :
1. Local governments have
given Constitutional status.

2.  Uniform pattern of local
governments created in the
nation.

3. Asasubject local government
is place under Concurrent
List.

4. New subjects have been
given to local governments
for making laws and policies.

Choose the correct answers from

the code given below :

(1) 1and2 (2)

(3) 3and4 (4)

2and 3
All of these

Which of the following is affirmed
by the 91* Amendment Act to the
Constitution ?

1. The size of the Central
Ministry including PM shall
not exceed 15 percent of the
size of Lok Sabha.

2. The size of the State Ministry
including CM shall not exceed
15 Percent of its Legislative
Assembly.

3. The size of the Central and
State Ministry must not be
less than 25 Percent of their
lower house of the
Legislature.

4.  All these

Choose the correct answers from

the code given below :

(1) 1and2 (2)

(3) 3and4 (4)

2and 3
4 only

SHIKARAT



17.

18.

93

03T WTITBNRYY  BDIODS

D3Bwe0 SBIrYodT

1. B8 Irerdddwerdd 33
Sorield Bwewd TpZ Byeeg
m_)é:)z;ié.

2. 3333 Iohy, DITR IR,
35903 JeT WveIBI.

3. BIeeswd H33F 3 Be3 FBI.

4. oBCRZ WIIBHW 2390 STI.

3YNS Todeany [wod VOGS

VTS HDH3R.

(1) 1&2
(2) 2&3
(3) 3&4
(4) RN ouFpe

o03ead esoeenad)

5005003 a&mdﬁﬁ@ﬁ& QRNELMN

ST

1. ovy INC DA Mycbesn Foeab
TVBETNL

2. GFED D) GVHGFT BeJedNRW

3. OFN0eS OTRER IBSMWD

(XA NPYAL-D)

4. Oy TORITOOM

3YNS STodedny [wos JOB
VBT HDHSR.

(1) 1332

(2) 2ab33

(3) 2,334

(4) 2PNV oudp

19.

20.

(6-A)

WWW.SHIKARAT.COM

oo BEITIR e303ReNF) AFFODI D
1. oRy VB0 AR FPeodh sorTriy

DG, Tord, SO esmeadd &yemd SR
JPeod FoFrior Sawealss.

2. 0%y Bowwmoded  odeeaSob
dRdAZobY Doy )[R
T BBN.

3. D% JBFOB AT QINY
B8obS A3 B8BZBIr.

4. ooR@d  SIFBINIRY, 3eod,
TB0€3T SwoDODR)TD.

B3NS STodedny [Dweos JOB

VTS DDA

(1) 18593, (2) 2&3

(3) 1&4 (4) 4593,

Tod) ead TS BR,NY Bodeend wry

adreR)d IO ?

1. 1993 89 TR €3 TR ReB JoS

2. 0ox, B3O ST BB),NY FoBeVMT

3. ?WT0 OFE D) ITITW, ©TET
AFedFadb Dedrt Jecharie Q3.

4. ©Z B0 3P 8 IRENWDV WFD?
30 Sadeecdd 80 IT/E, APNYO
AR SeTedee 9.

3YNS Todeadny [wewd JOabd

VTSI HDH3R.

(1) 132

(2) 334

(3) RTYY vIp

(4) @InYO aroddp v

SHIKARAT



17. The electoral systems followed in

elections in India are,

1. Proportional representation

by means of single
transferable vote.
2. Direct Elections based on

Universal Adult Franchise.

3. List system of Proportional

representation.

4. Cumulative system of Indirect

Election.

Choose the correct answers from

the code given below :
(1) (2)
(3) (4)

1and?2 2and 3

3and 4 All of these

18. The Election Commission of India
holds periodical elections to
1. All Urban and Rural local
governments.
2. The Offices of the President
and Vice-President.
3. Both the houses of
Parliament.
4. The State Legislature.
Choose the correct answers from
the code given below :
(1) 1and2 (2) 2and3
(3) 2,3and4 (4) Allofthese
93
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(7-A)

19.

20.

The State Finance Commission
determines

1. Pattern of distribution of
State’s tax revenue between
the State Government and
local bodies and the grant-in-
aid to local bodies.

2.  Growth requirements of the
State for formulating State
Five Year Plan.

3. Budgetary requirements of
various departments of the
State Government.

4. The state’s requirements
before the Union
Government.

Choose the correct answers from
the code given below :

(2). 1only (2) 2and3
(3) 1land4 (4) 4only
What is true about National

Human Rights Commission ?
1. A Statutory body established

in 1993.

2. A watch dog of Human Rights
in the nation.

3. Its Chairman and Members
are appointed by the
President on his discretionary
powers.

4. The term of the Chairman is 8
years or 80 years of age,
whichever is earlier.

Choose the correct answers from

the code given below :

(1) 1and2

(2) 3and4

(3) All of these

(4) None of these
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Government of India borrows ways

and means advances from
(1)
(2)

International Monetary Fund

National Bank for Agriculture

and Rural Development
State Bank of India

Reserve Bank of India

Which of the following items is not
included in the current account of

India’s BOP ?

Short-term Commercial

(1)

borrowings
(2) Non-factor services
(3)

(4)

Transfer Payments

Investment Income

Which of the following

Constitutional Amendment has

made Provision for GST ?
(1) 120" Amendment of 2013
(2)
(3)

(4)

122" Amendment of 2014
123" Amendment of 2014

124™ Amendment of 2015

WWW.SHIKARAT.COM
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24.

25.

26.

27.

The rate at which banks lend to
the RBI is called

(1)

(2) Reverse Repo Rate
(3)
(

4) Baserate

Repo rate

Call money rate

As per ‘Priority Sector Advances’,
what percentage of net credit of
domestic banks to be provided to
priority sector ?

(1) 30% (2) 40%

(3) 50% (4) 60%

What are NIMZs ?

(1) National Investment and
Manufacturing Zones

(2) Nodal Institutions and

Marketing Zones

(3)

Nodal Investment and Mega
Zones

National Informatics and

Management Zones

(4)

What is Karnataka’s 14 Policy ?

(1) Industry, Information,
Infrastructure and Incentives
Policy

(2) Institutions, Infrastructure,
Investment and Incentives
Policy

(3) Information Technology, ITeS,
Innovation and Incentives
Policy

(4) Information Technology,
Infrastructure, Institutions

and Incentives Policy
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On what criteria potential Smart
Cities are identified under Smart
Cities Mission ?

(1) Equal weightage to urban
population of the state and
number of statutory towns in

the state.

Equal weightage to their
contribution to GSDP and

exports.

Equal weightage to their tax

collections and fiscal health.

Equal weightage to per capita

income and human

development index value.

Among the following which is the
major recommendation of the 14"
Finance Commission ?

(1) Enhanced the share of the
States in the Central divisible
pool from the current 32% to

42%.

Suggested new criteria for

sector specific grants.
Reduced the share of the
States in the Central divisible
pool from 32% to 25%.

Suggested to reduce the fiscal

responses of States.

WWW.SHIKARAT.COM

30.

31.

(11 - A)

Which of the following is the
correct sequence in the process of

economic integration between
different countries ?
(1) Common Market - Free

Trade Area — Custom Union —
Economic Union.

Free Trade Area — Custom
Union — Common Market —
Economic Union.

(2)

Free Trade Area — Common
Market — Custom Union -
Economic Union.

Common Market - Free
Trade Area — Economic Union
— Custom Union.

(3)

(4)

Which of the following would
mean NITI Aayog ?

1. A group of people with
authority entrusted by the
government to formulate/
regulate policies concerning
transforming India.

2. It is a commission to help
government in social and
economic issues.

3. It is an Institute of Think tank
with experts in it.

4. It is a commission like one
size fits all.

Select the correct answer using the
codes given below :

(1) 1,2,3and4
(2) 2and4only
(3) 1and3only
(4) 1,2and3only
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BOFEIB 0BFOR) B8 B3YNS D38TodB

RYOYY adoRYTY Hodod BToBTAL
Reed3 BBe3FoD HAFRT.

(1) e0orF BpeT® o, Soodpeladyo

(2) Dedbded) , 3D

(3) 230TTTF, @ociraea"emé

(4) Deso, BB,
1857 T 3L,3,
DBooRAYY DT,
0900833, &350

(1) DzS ab W3e3
(2) VDT, &mdﬁza‘

(3) QOALIF deext S 3T
(4) BT D3R eodeer

L 38, Z0ahI0T 2015 O
002333 BB W3R 8 Ze3 T
(1) méoéﬁ (2) abzmes

(3) IoxIed (4) ded

Swod DR
&’)cm?s(t)oobﬁv
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32. Which of the following would

93

mean Decentralised planning ?

1. Itis a planning in which plans
are made by those who are
going to be directly affected
by them and not by absentee
bureaucracy sitting in post

offices of the federal capital.

2. Plans are not imposed from
above and concern groups or
localities are actively

associated with the whole

planning process.

3. It is a plan based on
participatory economics,
economic democracy and

industrial democracy.

4. Itis a feature of socialist and

anarchist economics.

5. ltis the democratic aspiration
of people and participatory

planning.
Select the correct answer using

codes given below :
(1)
(2)
(3)
(4)

1 and 2 only
1, 2,3 and 4 only
2,3 and 5 only

1,2,3,4and 5 only

WWW.SHIKARAT.COM

(13-A)

33.

34.

35.

36.

37.

Who has been elected as the First
Woman Secretary General of
Commonwealth ?

(1) Patricia Scotland

(2) Bidhya Devi

(3) Melinda Gates

(4) Marzieh Afkham

Match the following :

I. Laughing Gas 1. Methane

II. Noble Gas 2. Fluorine

lll. Natural Gas 3. Helium

IV. Halogen 4. Nitrous Oxide
I Il 1" v

1 1 2 3 4

2) 2 3 1 4

By 4 1 3 2

4 4 3 1 2

Which of the following historic
sites is identified by the
Government of Karnataka as a
sister heritage site of Hampi ?

(1) Angkor Wat, Cambodia

(2) Machu Picchu, Peru

(3) Borobudur, Indonesia

(4) Giza, Egypt

In 1857, Universities  were
established in Calcutta, Bombay
and Madras based on

(1) Macauley’s Minute

(2) Wood’s Despatch

(3) William Jones’ Report

(4) Thomas Munro Commission

Akkai Padmashali was awarded
Rajyotsava award in 2015 for her
services in the field of
(1) Literature (2)
(3) Social service (4)

Yakshagana
Sports
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38. 2.7 o Dod TAIJVE TB0Z,
Y0380 TeT,O03 JZr0W ToR Ned
(BRe) 3T9N) AP ?

(1) T a3,

(2) 330 3B WFAD 39
(3) SoBe Fyo330

(4) &3 ne DS

39. 8 BYNIYINYY T e T DO
©wor wABeF WaRerF Do B
(Q8ecd BeBMOB DA wBeF AIFDBE
Soad) 20030 dnsoas
YD ?

(1) 2006-07 B So3T yed3ead dIJ='e
W0B Beow, Vseed OZSNY
BB ARDAYY BT
NeBWIT.

(2) Beod, RVBerTY oldeod OIJ'e
W03A08 T  BEWT3V.
VBZ, IJodl ©0BT Fy&* Tdedrt
Ded ©RE INTIY Sz, O8N
FwonET Swewrd AeBew.

3) B8 IAW V.8.d. b 0.3% eR)
d3ead BpTBabd BNIeled.
Bowead BNBabY 0.5% SNeIe.

(4) soododw, 2018 T eee 31 O
Jerd Q3ead BRTB DY,
DeeNUdTen  Beod, IZrOY)
a3 3D 3,303
30 9.

©03 ese)mcic))

40.

41.

42,

93 (14 - A)
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QIYTIIY BROD.
AV BSBPIE
a. BT oW I. Q. OFF°. ey
2eIBOTTTI,

B3I} DR 2703
3O Beamas,

b. 00" Toedaedd
3IRF

Cc. B0dB0 ]

d. Qedon® &3f 2ede30’ 4. B0hTodF She

Codes :

2. ZD0G Dok

3. 9DTIHTIN®

a b [ d
(1) 1 4 3 2
(2) 4 1 2 3
(3) 2 3 4 1
(4) 4 2 1 3
GUX @s& 3 Il Ceod @0l
S0dnST esad), 8.
3ed-1 3ed-Nl
i. Dezr3d a. 3B AdeeS
odees
ii. TOBFRB b. m@&’)& odeeJ
300d odeesS
ji. 0900 VA ¢ MTAF AdeeS
adeedS
iv. 303 adees  d. 3860)56 BReS AdeedS
Codes :
a b [ d
(1) i v i [
(2) i v [ i
(3) i v i [
(4) v i i [

03B BOAFIE BURW 356 B& VRBHI
DBF BOYS WFFBNW VBO0T
T3 olds..

(1) SBodws oa% BOATON

(2) 3 edado BodGeS

(3) QeRT* FodFS
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38.

39.

93

(4) 20T S0P

Which of the following was
declared as National Anthem
(Qaumi Tarana) of the Provisional
Government of Free India
established by INA ?

(1) Subh Sukh Chain

) Qadam Qadam Badaye Ja

(2
(3) Vande Mataram

(4) Jana Gana Mana

Which of the following is NOT one
of the main features of Fiscal
Responsibility and Budget
Management Act, 2003 ?

(1) The Reserve Bank of India
must not subscribe to the
primary of Central
Government Securities from
the year 2006-07.

The Central Government shall

issues

not borrow from the Reserve
Bank of India except by way
of advances ~to  meet
temporary excess of cash
disbursements cash
receipts.

over

It requires the reduction in
fiscal deficit by 0.3 per cent
of GDP each year and the
revenue deficit by 0.5 per
cent.

The Act mandates the Central
Government to take
appropriate  measures to

(4)

WWW.SHIKARAT.COM

(15-A)

40.

41.

42.

eliminate the fiscal deficit by
March 31, 2018.
Match the following :

Books Authors
a. Green Signals 1. A.S. Dulat
Ecology, Growth
and Democracy
in India
b. Kashmir The 2. Kasinath
Vajpayee Year Singh
c. Kashika Assi 3. Anuradha
Roy
d. Sleeping on 4. Jayaram
Jupiter Ramesh
Codes :
a b C d
(1) 1 4 3 2
(2) 4 1 2 3
(3) 2 3 4 1
(4) 4 2 1 3

Match List-I with List-Il and select
the correct answer using the codes

given below :
List—1 List—1I
i. Longterm a. Indicative
planning planning
ii. Public sector b. Spatial
planning planning
iii. Private sector c. Imperative
planning planning
iv. Town planning d. Perspective
planning
Codes
a b C d
(1) i v i i
(2) ii iv i iii
(3) i iv i i
(4) iv i i i

The emergency provisions under
Article 356 of Indian Constitution
was influenced by

(1) United States Constitution
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43.

44.

45.

46.

93

(2) Australian Constitution
(3) Weimar Constitution
(4) Irish Constitution

adreds odeeasode
BoBOB @oedB BB W) Jed
deenre Zoabfd BPS @0BTNA
aleenme  modgodd womd  wle
eamzsoi)daig( QeBeNOTeTD) ?

(1) o3BIad cdeens
(2) Swed3ab adeeads
(3) Pee,Rab cdeeads
(4) 283ad cdeedS

BoWlDoAeB

503,¢0 3633 B8 20RT S i

(1) deo* - BB ReT0 2Fe3 Toe

(2) de0f - Boeesf SB) T 0° &Je3
To

(3) Cwom,0f DT LFS® 23e3 Toew

(4) DI’ - 3eBFOf 2Je3 Toew

APYNVY @z JIWG,  woBd
290BTO =, IAFS 0BORY, BodY ?

(1) DDerieeme  (2) Swowdd

3oDex®

(3) BRBS* (4)

8 BYNS 033
Souodndad Do
YD ?

(1) BT°-ABREWITE

pesny 3,3
EpoDDIT

(2) 098¢

47.

48.

49.

50.

(16 - A)
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(3) V3T voBITOR®

(4) 3D dBpew0°

BITosl; T AJLFBIY MEDAR-
Ton BT 3BT Tog, creRHdh ?
(1) 3Ber

(2) e9edzo (V. OFF. Q)

(3) @oBreedadr

(4) =3I

oa&g eod eseDaSe)aQ ARSI I a.0) ad
SRS BID

(1) S BIOTF Does® 239,0%°

(2) 837 BI0T Does® 239,08

(3) B BB Does® (ADNeL Y

(4) 3, eaz;’)aie)a@ W05°

@0RT, 3, DR BeRres BOIBFS
Jdoewahxd MmE Rodgs DR
d3eBEBM e303n3R03 AL W)
DY R ?

1. BT9,03 8

2. B S8R

3. OBTTOR® DB) NBeeeT0* B, eBR
4. rieecse

S e TeYW TePBNYY oD
TOWDTD o BYNI Jode3dny

Sweerd 3V0.
(1) 1,2 (2) 2,4
(3) 1,2,3 (4) 1,2,3,4

2001-2011 3 23n63Edod 3LD0oT
Dot oo oazsasd) a’ﬁr«ioai‘zsoi) 3I3e3
BOBO B3B3 ROFB bR, TR ?
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43.

44.

45.

46.
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(1) Dxov®

(3) oazsm@ai

(2) evST BTe3
(4) edhmeiv B33

In which Five Year Plan, balanced

regional development was
emphasized as one of the major
objectives of the planning exercise
and was one full chapter in the
plan document ?

(1) Secondplan (2) Third plan

(3) Fourthplan (4) Fifth plan

The ‘Valley of Kashmir’ lies

between

(1) Pir-Panjal and Karakoram
range

(2) Pir-Panjal and Zaskar range

(3) Zaskar and Ladakh range

(4) Sulaiman and Kirthar range

Which one of the following sea
ports of India does not have
natural harbour ?

(1) Marmagao (2) Mumbai

(3) Cochin (4) Paradeep

Which one of the following islands

of India has volcanic origin ?
(1) Car - Nicobar
(2) Barren

47.

48.

49.

50.

(17 - A)

WWW.SHIKARAT.COM

(3) North - Andaman
(4) Little - Nicobar

Which of the following nation is
the third largest both in terms of
population and area in the World ?

(1) Brazil (2) US.A.
(3) Indonesia  (4) Pakistan

The New Development Bank (NDB)
formerly referred to as

(1) Asian Development Bank
(2) African Development Bank
(3) World Development Bank
(4) BRICS Development Bank

The.. Ministry of Environment,
Forest and Climate Change has
identified the major coral reefs
areas for intensive conservation &
management in India.

1. Gulf-of-Mannar

2.  Gulf-of-Kachchh

3. Andaman & Nicobar Islands
4. Goa

Which of the statements given
above is/are correct ?

(1) 1,2 (2) 2,4

(3) 1,2,3 (4) 1,2,3,4

Between 2001 and 2011 Census,
which one of the following States
recorded the highest decadal
growth rate of population ?

(1) Bihar
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52,
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2) Uttar Pradesh

3) Rajasthan

4) Arunachal Pradesh

OA8 SweTOBahE DD BRBSW

239,0%° (AlIB) 0l

1. ¥ede o333
AT’ 239,0F".

2. 200 Sway seaderoods) Deddon'
S03.

3. s3edabe AlB 241 833, <&
FodT 3B Be3.

4. PUBBRIRFrieod 50 T Nw
AlIB 0 60 IRdY WA B33,
T Fod33.

S Ded TePBNYY oD IO

Q0TRY, By Y AeBHT Jode3dnY

Swewd BePD.

(1) 1,2 (2) 1,2,3
(3) 1,2,3,4 (4) 2,3,4
oJef 30, 2015 Tord T3 DR

2T J& BT 3)adre Soodraiees

208 81 BYNS BeOBrYY 8030,

1. 293 eudEd IndnY Sresdabd
033 e303) SRONY JY3edrs.

2. o083, VTN JOJtD VOB
RPT;DITD.

3. BRBB DR BweLTOBaDTIY S0

4. o033, wToX* Te. 5000 Zeeedad
VTN ALRDIZHTD.

(
(
(

wBBZeod

53.

54.

(18-A)
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& e TeRDT FePINYY adroYych
WO 00T B BYR  eBDI

JoBe3nYor Bewd.

(1) 1,2 (2) 2,3
(3) 3,4 (4) 1,3

2016 O 3B, Jdede BBA0d 2SO

edeNd

(1) @o. DobTed swH0Es B33,
(2) Rp). BF. J. Fo3ede3 BT
(3) RyeRBog, DI

(4) @o. BoB>dTT 23,08

eaoéoao?;_i) eod 330 30@@0&» (IMO)
1. IMO B9 &3 171 IV ToRNwY

DR 3 IB IBI0w9T.

2. 2 3B 0 DA TmeSab
Iy, BB IYSeIT DR

AIcdBMNIN VB.

3. 25903 eso:%oac% ead IBW
Sogad (IMO) ReFad IBI, TS,
@ @

T 30,0 BRT.

4. 20T Beod, TS Dodon® &3:° & Q.
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& e TeIDT TeVINYY adroYch

WO 00T B BY  eBDI

F03e3nY Jwewd Bewd.

(1) 1,2 (2) 2,3

(3) 1,2,3 (4) 1,2,3,4

51. The Asian Infrastructure

Investment Bank (AlIB) is

1. It is a China-led multilateral
Asian Bank.

2. Its head quarter is at Beijing.

3. Australia  was the first
country to sign the AIlIB
agreement.

4. 50 Nations including India
signed 60 articles agreement
of AlIB.

Which of the statement given

above is/are correct ?

(1) 1,2 (2) 1,2,3

(3) 1,2,3,4 (4) 2,3,4

52. Consider the following statements
regarding the India-Japan action

agenda signed in April 30, 2015.

1. Development of selected
township in India as Japanese
industrial townships.

2.  Japan to supply nuclear fuel
to India.

93
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(19

53.

54.

LA)

3.  Promotion of investment and
infrastructure.

4.  Japan will lend 5000 crores to
India.

Which of the statement given

above is/are correct ?

(1) 1,2 (2) 2,3
(3) 3,4 (4) 1,3
Padma Vibhushan Awarded in

2016 to
(1) Dr. Vasudev Kalkunte Aatre
(2)

(3)

Prof. M. Venkatesh Kumar

Sribhas Chandra Supakr

(4) Dr. Santeshivara Bhyrappa

The International Maritime

Organization (IMO)

1. IMO has 171 member’s states

and 3 associate members.

2. To develop and maintain a
comprehensive  framework

for shipping and its remit.

3. India re-elected as a member

of International Maritime
Council.
4. Its headquarter is at

Washington DC.
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Which of the statements given

above is/are correct ?
Select by using codes given below.
(1) 1,2 (2) 2,3

(3) 1,2,3 (4)
A eode 0deeIadn

1,2,3,4

1. 2B3I3 deadNo3 &}abag,d
DoV d)s;?ﬁ escifaerizs AR

03ReR.

2. 8 deeadady IJOed3, JTITeF
@09, W 0o F D) wa wor

JBeweon 23, PMeNg.

3. 8  oleesdaba) 45,000
BoarbeIANert ORBBeD

emcioeéﬁmﬁd.

4. 2014-15 O eabhI0hBY DIyadh
Te. 112 3deed &Y B

AFEO[UNT.

56.

57.

(20-A)
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& HedI TePBNYY abeHd IO

Q0WTRY, B8 YN Sodedniv Swewd

He0.

(1) 1,2 2) 1,2,3

(3) 2,3,4 (4) 1,2,3,4

ﬁﬁd DI deexdad w3 B

B3YNIINYO adreHdd JOdreNe ?

(1) ard VB3I CesiNo3
DeADIIOMN AT 3.

(2) 8 dleedJady BAD esmdd3
JRFd Bevon  FeorBey-
(AL aria) a)amm& RTINS

(3) 88 ddeeaJady Joxudd Jowodd
B EBOMING.

(4) 2010-11 TY & aleedSabI
BOIFEIB VBFOR) Bo0rRVDID.

D3ear Me,eerdod 0deeodw

1L 3 D) ) B)ABeesnidxy,
YIBIBNS Sweud & oBNes,3
TToceEd asa»mom;w& eae;’)ase)a@
IADID.

2. JTe@TeN 333 eV ToNIg)
380N Readead BRreeEO
3)Aahe33 evdRer OBZIBRYY

R\ AR,
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3. &, Izeadh Jozniwd D) moq‘)&s Which of the statements given
Joznd Swewsd JSNweodd er3
DB D)D) TORDZTD.

4. MY eahody ToRT  we,
Mmycbess  BIJo T B 3adeomd

above is/are correct ?

Select by using codes given below.

So0RBIOTHT ¥IV0sl, Joword (1) 1,2
355900 DeeS FrBeTarHR .
& HedI TePBNYY abeHd IO (2) 1,2,3
Q0T B8 BYNS Sodedny Swow3
Be90. (3) 2,34
g; 33 2421; 13,34
55. Nirmaya Scheme is (4) 1,234
1. Health insurance scheme for 56. Which of the following is not
correct about the Nanna Mane

the children belonging to BPL Scheme ?

(1) It is a scheme for above
poverty line people.

families.

(2) It is a scheme to provide
affordable houses to the low
income group families.

2. It is a scheme for children

suffering from autism, cerebral
(3) It is a scheme for organized

palsy, mental retardation and sector labourers.
(4) This scheme is introduced by
multiple disabilities. the Government of Karnataka

in the year of 2010-11.

3. It is proposed to cover 45000
57. Suvarna Gramodaya Yojana is

beneficiaries under this scheme. 1. To develop vibrant Vvillage
communities by adopting an
4. An estimated outlay of ¥ 1.12 intensive  and  integrated
approach to rural

crores in 2014-15 budget. development.

2. To generate significant levels of
non-agricultural employment

93 21 - A)
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especially for educated 20D

unemployed youth. 5. A0 §e3B
3. To support community N

awareness and development '

8 3YNI Jo3e3Dod TVOAed evad3
through  self-help  groups, =
cultural association etc. esad), Sra80.

4. Selection of village is based on a b ¢ d
. (1) 4 3 2 1
the rural population of each 2) 3 4 1 2
taluka in relation to total rural B3 5 4 3 2
. (4) 2 1 5 3
population of state.
Which of the statements given 50, Boresd 03&’»563 RRBODDS 309sY
above is/are correct ? Select by 3 deg
using codes given below. BT3P
(3) 1,2,3 (4) 1,2,3,4 (3) 400 3.ve. (4) 450 3.Qve.
58. 8 BYNIYNYY, env evgednswodn, | 60, s, BBeB TseOR II @I
BAERe o B 0DID. m&m:&obaig( VGoBAIRDA  BY0H
36, - | 38, - | 3308 ORDOIBIMO  ADFRD
a. 80°. . SPO* 1. Myches wodd ABFOIT. & BIDS) & ZVARIrive
JD3 0eI30 3R BB B) ?
R ORTIR (1) & ¥ bo¥ TIBDIBRO
€523, e TOR TN,
9
b. ©3d0d 2. BOBAI 2) & “_fg‘?@ gm <0 sodab
SoreOals Reasgaod DeODS IS AwTIEE, 03
JD3 mdﬁc:bi'? 33 SDeBTOB.
202>
(3) wond3 DB [INT  drIden
c. 3Jededor, 3. eswmood Sdriod
QDB ¥ atdeoBe sriT.
B3 SRR °
(4) 88 I¥F 0T To3BTeB®BT
RVLes8T¢6d ®
ToRPIANAND) DA B IYR)
d. Dex8 Iedo0d 4. 303 ~ ~ ®
@y IO Bodab Deddha Ind
JDS oplalatletaln ®
JBhTBE, ©d IJeITOT.
(@, 5y & "
3 QSTRD) I3 FO eVITRW.
eSes) Bye, -
93 (22 - A)
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61. 3ol JZrCT I ToBer T, ead
adeeasdod wri 8 3YAIINYY oy

oVZ0 ST NG ?

(1) =8 o3peJadw Q) 30&)363
BWWiatle) P, 8e33 B Z3eBBY,

@93 b13T.

(2) o o3V I3 dge / IoPedr

TVB5200359N 3.

(3) D ©ID IO JBabew

JB50009N3.

(4) oD o33 DI DA eV
adee N Wowew AeR3T.

58. Match the following committees
with their objectives.

List-I
a. R.V. Easwar 1.
Committee

b. Arvind 2.
Pangariya
Committee

c. Kamlesh 3.
Chandra
Committee

d. Deepak 4.
Mohanty
Committee

93
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List-I
To study the
wage structure

of the Gramin
Dak Sevaks

On medium-
termpath on
financial
inclusion
Simplification
of Provision of
income tax
laws

Fast-track
bullet train

Reforms in

(23-A)

59.

60.

insurance

sector

Choose the correct alternative :

a b C d
1) 4 3 2 1
2 3 4 1 2
35 4 3 2
4 2 1 5 3

The Karnataka State has coastline

of around

(1) 220 kms (2) 320 kms

(3) 400 kms (4) 450 kms

The Government of Andhra Pradesh

decided to build its new capital

Amaravati at Uddandayauruni Palem

village. In this regard which of the

following is incorrect ?

(1) The place was the capital of
the Satavahanas.

(2) The place is close to
Vijayawada on the bank of
River Krishna.

(3) The place can be the only
place to build a world-class
city.

(4) ‘The place was the capital of
the Satavahanas’ and ‘The
place is close to Vijayawada
on the bank of River Krishna’

both are correct.
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203 4 2 1
61. Which of the following is untrue 3) 1 2 3 4

about the Central Government
(4) 4 3 2 1

National Nai Manzil Scheme ?

(1) It supports the minority 63. S 3YN aded 2015 B TOR ZoRded

youth for enrolment in
schooling 2331 weRTeNwes ?

(2) It provides them  for (1) OFF. O, 23,08,

vocational training.

(3) It provides them for job- (2) DO BTk

placement. (3) ST 2RO
(4) It provides them for marriage
and family-planning. (4) Bod ™ 03
62. 8 BYNIYNYIY, BRoDIO. ABeFBI (BF, 64 & 65 : B FTII
SoBBAVOEY,  Boveddbod LD Jeasdh
e el IouTN  ORRY  BeveohsaTonnERy
i méam‘d)eebﬁ 1. Brdw AFFOD T B BB 3wws o

VUB[0TITITY B riedpdd ? 33 Bolddad
S08T Tow, BRIV, Fvdah 2.0 BeS
ii. 2Jabosd=ed 2. 90, - Q0. VT Bwedh BePSHPNOB Bed), BRBTNDST.
64. Q0 JVD B, BUT-BDFTYY

@) SeBND ID 3D, wdeed
iii. ¢JodeezoWBT 3. 23eOF 27} SO0dyT Foweiadndy SrthBeHTos.
S, esdeeiDenraud  Be3[homeN
8.8 Fodbd, VRT3, ByEayowes, U333
iv. BYdndD3 4. Sewovd 233 Swo3ed Teenny BedPortBetns.
BID  DOIoDBN TSI FeFobIY
BBNSY. 2BBF JC0BTTN B ATS.
Codes : AF  BBHOID S08, DeIss  Fed)

i i i v ThedsTmel)  wg3de eﬂdfaer%sdmﬁom.
BTN DR BDBIBOBE BIYROW
0363 B, 0@V B0, IS

(ArY AR

3ez03 <13V al3

e ToDDB GEAT)

93 (24 -A)
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BRAB FOID) ©°00 edeeid e

553,35 DO DeddS. eschperi s

DR <BoBeeRTN ADBLY Tode T

BODBRND 0230 B)ENG.

(1) adedd D3adeyTe BTN
oBB3 D) BEBWWSIT.

(2) S03Bod B3 deeriwd BeH 3.

(3) &I 30230 B0 F VB30T
DIBO0mN BoBeeR DR 33
of. Teierlplar]e)

(4) @003 Ngle]n! DoBIT6,
2eIVT ;0 DA BDYRAD BIT
B d e BOmID DeDI3.

62. Match the following :
List-I List-1l

i. Parisunder 1. Yakub

attack Memon
ii. Deadly 2. M.M.
Quake Kalaburgi

iii. Hanging of a 3. Charlie

terrorist Hebdo
iv. Growing 4. Nepal
intolerance
Codes:
[ i i v

1) 3 4 1 2

2) 3 4 2 1

31 2 3 4

(4) 4 3 2 1

63. Which of the following got 2015

Jnanapith award ?

(1) S.L.Bhyrappa

(2) Dilip Kumar

(3) Raghuveer Chaudhury

(4) Salman Rushdie

Directions (Q. No. 64 & 65) : Read the
paragraphs carefully and determine the
main point the author is trying to make.
What conclusion can be drawn from the
argument ? Each paragraph is followed
by four statements. One statement
supports the author’s argument better
than the others do.

64. Now-a-days people are so busy in
their work that they do not take
care of their health. A lot of
diseases like diabetics, arthritis,
heart attack, blood pressure are
increasing due to unhealthy
lifestyle. People do not find time to
exercise. Stress is continuously
increasing. The fast food is quick,
easy and tastes better but is not
healthy. Habits like smoking and
drinking alcohol have many side
effects. Polluted city environment
has also negative impact on the

93 (25-A)
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65.

health of citizens. To live happy
and healthy life; it is important to
take care of oneself.

(1) Now-a-days
smokes and drinks.

everybody

(2) Diseases are increasing only
because of pollution.

(3) People are happy and stress
free because their life is too
busy.

(4) Current city environment, life
style and habits are affecting
the health of citizens.

WY B2 DB DezeodVady R B3NY

Ded I P, wabdd, wobdd
Q0T TPBDSE. Q0B WBYRD),
2ID D, BBWoD DB wod
JZo0e8 TN WodAW), TUS
@930 DB) BYS WBTPNRY o
GADIELTCIX fa M SO PR DI S - 1 T
2003 ©3Z B3N, Wb BITIob
SR)obe, T,BFS, BBD o8, ©ITO

B, To0d, Bod), ISP, FOWrT

B BobB03030 wdeer 80 Irensd

JNS agie a3T.

(1) @0 cdreThe 2¥,0daTe).

(2) @ BFBadewTde PYID DI
OBoPNREe 8NTYT.

(3) BPYG0B dgeR JIPRIY,
BTG DD Pd3dod
50HRBT.

(4) ovdR 3R 0N B00T
P@YWTB DG BeeTIRDFHTD

mdzs‘:’?,-

ATee 33 (@a’d N 66 & 67) : 88 BV LoD
DeYB303RoDT 9Jed3 dNBNRYS. enna?oi:aig(

SoBTD. By BeVBALIY 92 03AWoT LB
098 GVBNW By BePBT VRBT0WTIY

ABED.

66.

F)ddees, B3xd D[RS DR
IBEOS, BYISeD.  DFB,
MmeoRed o3 Jde madaig( Vo3
Fori3ed BRTD, DANYI L
Q00wWT. ELSIA L) w¥,0b

93 (26 - A)
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BevS :

20 O BB I3 “BENDIDH

B, BOREIB, BEBO AFODINT”

PVBNR

. OJB3Bdy B3 Iwewneod
V30T,

Il BIB3Bah 8 DYMN Sowwdr

Il BeRd3D B3I,  [oBETY
APODT 95T FeoBdTT.

(1) 1R 1l ZRHBZNS.

(2) 133 Il BRHBTO.

(3) 1R Il BRBINES.
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65.
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(4) QoVFp JHBTNS.

Bev3 ‘[IIF 0QATo3 33
g oeNmRY. @3 B33 0og
Fo00d0d 23e0WAZW” oD A odv B
3 DY 27 BeDLISZR.

LVBAW :

. 3 Add 393

Il BT Y a1 el

. 30g) B3I Sodbodhod 23e0FeT8RD.
(1) 12D 1l eVBTLD DD

(2) 11D Il VB Feed@aNs.

(3) 1D 1l VBT Feedad.

(4) QU LVBTY —cu’faas?smﬁd.

N

Diwali is a festival of lights; which
signifies that good will always be
better than evil. In the present day
many people have developed a lot
of negativity in their minds. and
hearts, which has led -to high
corruption and higher crime rates.
Value-based education is the need
of the day to eliminate darkness of
cruelty, selfishness and greed and
bring the light of wisdom, peace,
truthfulness,

kindness, right

attitude, hard work and co-
operation. Mahatma Gandhi also
said that we should eradicate sins

from the hearts not the sinners. If

a society has people with good

heart, it will definitely flourish.
(1) Now-a-days nobody is good.

(2) Now-a-days everybody is

corrupt and criminal.

(3) Value-based education can
save the society from crime

and corruption.

(4) It is not possible to fight

against corruption as

everybody is corrupt.

Directions (Q. No. 66 & 67) : A
statement is given followed by several
assumptions.  An  assumption is
something assumed or taken for
granted. Read the statement carefully
and decide which of the assumptions
are implicit in the statement.

66. Statement:

“The Prime Minister is expected to

announce an expansion in his

ministry shortly.” — A newspaper

report.

Assumptions :

l. The newspaper has quoted
authentic sources.

. The newspaper has reliable
sources for the news.

lll. The Prime Minister has the
power to expand his cabinet.

(1) landllare implicit

(2) Iland Il are implicit

27 - A)
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67.

68.

Nialdam (6’925; 69)
QTR HUD

93

(3) landlll are implicit
(4) All are implicit

Statement :

“I think that she has gone mad.
Last night | saw her barking like a
dog.” — A tells B about Madhu.

Assumptions :

l. Madhu is a friend of A.

II.  Bknows Madhu.

lll.  Some people do not bark like
dogs.

(1) land Il are implicit.

(2) Iland Il are implicit

(3) land lll are implicit

(4) All are implicit

8 BYNIYTYY To,00Z Sogrisde ol

RDITFRNB BRHAD SLALTYRY Be0D.
Be3-I Be3-Il

i. O?c??_y ead 1. DIT*
deeniddees Jo

i. O?c??_y ead BeIBpe3
AR Jo

iii. B o YT
D) BeenAFes
B3¢0,

iv. Dac) ead T

nife}o10l4AD) R)’oﬁ@

2. aiédoamm‘

3.8

4. SIBBO

Codes_ P
W1 2
(2) 1 3
(3) 4 3
4) 1 2

ra

ANONWES
=

: 8 3PN peRdah 22030
S{elsrlelot Iy

69.

70.

71.

(28 - A)
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BeRS 03T BaeTW OV

Be0BTFIT  JeF  dYY  ‘Beewad®

Q02T B3 Ted) o003 BPODT.

PUBVOBOTIW :

. 200330 Babeved 0 8 JeF
7% o003’ 7} 31T

Il 25o03BY S0eTed VBT aiyoyade
8.0. JeF Ol ‘Tewd e

) ems d mﬁu

EI_

L
L

(1) VBTV0HT | H0TOBT

(2) GVBB0EHT Il 20TPODIT

(3) GVBB0TT | DA Il H0LPORDIT

(4) BUTT0HT | YT LVTT0HT I
%02700DII

ga)a)cgmﬁ I3 ByeIendnivy

655&363& BeeBd IJ I3
® =

203 amﬁd@( Q0

30ainz90.

(1) esoe3D (@oﬁdaémmg:))

(2) VI3’ (8DS033 m‘g)

(3) SPDRF Bedof (FohB8TEd 6553@)

(4) 83363\@0 3 (Bed3NesdTe m@fj)

wold  Jdedd,  Swodwd 39

GRANALL) O~ 39T.

(1) 23R T (Jugn)

(2) R0BAIT® (TBedeod)

(3) 2VFRZoDT® (RHT, BE3 DS 3Y)

(4) aRYNYO arePhde e
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72. 03T MR 0BT adyed ?
(1) oox* Brex® B wed o J e 11Q
9e0TT3 69.
(2) 201539 STYR* BT 333 333
@ortedadod Jend
(3) dfaaoomas esegﬁomzséari
DVS I, YN, O° Be33)
QedeIedD) 3D ©90edzTd
ToB003,3
(4) odeF 2015 B8 AFI0T Seler
333 Jed WDERF e
68. Match the following autonomous
institutions and public sector
undertakings. 70
List-I List-I
i. National 1. Manesar
Institute of
Immunology
ii. National Centre 2. Hyderabad
for Cell Science
iii. Centre for DNA 3. Pune
fingerprinting
and Diagnostics
iv. National Brain 4. New Delhi
Research Centre
Codes :
i i v 71.
(1) 1 2 3 4
(2) 1 3 2 4
(3) 4 3 2 1
4 1 2 4 3
93 (29 - A)
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Directions (Q. No. 69) : In the following
question, a statement is followed by
two conclusions :

Statement :

Of all the television sets

manufactured in India, the ‘Solar’

has the largest sale.

Conclusions :

l. The volume of sales of all the
brands of television sets
manufactured in India is
known.

Il.  The production of no other
television set in India is as
large as that of ‘Solar.’

(1) Conclusion | follows

(2) .~ Conclusion Il follows

(3) Bothland Il follow

(4) Either 1 or Il follows.

Branch of botany which deals with
orderly arrangements of plants is

called as

(1) Anatomy

(2) Genetics

(3) Nomenclature

(4) Taxonomy

A species which is not native to the

area is called
(1) Exotic
(2) Indigenous

(3) Obnoxious weed

SHIKARAT
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73.

74.

75.
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(4) None

Who was Gunter Grass ?

(1) American winner of the

boxing match in Las Vegas.

(2) Hungarian writer who got the

Man Booker Prize for 2015.

(3) US diplomat who urges

Myanmar to extend
citizenship to the Rohingya

minority.
(4) German author who won
Nobel Prize and passed away

in April 2015.
® ;8»,e0do e903oR) 0T
(1) HY
(3) OH-

(2) H,0*
(4) H

3 @oeddod 9 goe3ohIBAI (P.M.)
JDobdd  ABedE SwHYNW
LoVBREITO OR) 2300 YBE ?

(2) 10
(4) 9

(1) 11
(3) 12

COBRRIBT O S 8st WPBTOR D)
BReNhaS Fosl,riva sk, Fo8.

? 12 |18 |?

88 |17 |9 25

10 |24 |89 |16

19 |86 |23 |11

(1) 25,87 (2) 22,87

76.

77.

78.

79.

(30-A)
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(3) 13,85 (4) 22,19

200 ST a G, B b F;Babod
8008 So30 T b de. ) a B,
Se0wen, ¢ Ga.nY g evotsdh.
et a, b DR ¢ AY SDAN IBaed

ToWOFR)
1) 2*P_0990 (2) - =099
c a+b
(3) - =099 (4 2=2_099
a—-b C
T B3 (959,0ez30dr9) 00T

(1) 1HNO,:2HC/
(2) ~1HNO,: 3 HCl
(3) 3'HNO,:1HC
(4) 3 HNO,: 2 HCl
o), Sdodn 2001 T BISOaLO Soriert
Tp. 10000 Sweeed3 Torte Te. 500
DAr8 BT BT, Jedhzod.
QBT 83D B3 4 SAERT 2w, de.
1000 SN @ed) 30adreN
BBz, FNGT 2010 T Fe),SO0HE
633 e 3eBF A D) ?
(1) dw.15,000 (2)

(3) ©w.17,000 (4)

drp. 16,000
dn. 16,500

200 DRDI0D B8TBZHe VT3S,
900 3P 37DV TN
N0egRUING. 93Ny eEe0a Dees
BeRZYTTT, 300 e93PRR
S20T9H0BRY, 400 SHod JTYHeT
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esmddai&, 140 Sod ﬁmémd DA
S90T59H93 VB, FedDBTow &R
50 od 3NN ooHhde es%e0
RIS Anrbvadord  womexy | /O
SedwNT. TNGFS JTy®eT  eWEs
TeAT SHRY Tedwe Jjcrets o), ?
(1) 60% (2) 44%
(3) 48% (4) 63%
80. B 3YNI BTBFITO
(2 |8 |c [D |E |6 |
B 30de0d ©F0Fp 20w JosfobR)
330D, e areYde 3 77.
Sogny SezY 15 &BY, on E I
PR
(1) o (2) 2
3) 7 (4) 8
73. Hydronium ion is
(1) H* (2) H3O+ 78.
(3) OH- (4) H
74. How many times between 3 P.M.
to 9 P.M. the hands of a clock will
be at right angles ?
(1) 11 (2) 10
(3) 12 (4) 9
75. Select the missing numbers in the
Ramanujan’s magic square :
? 12 |18 ?
88 |17 |9 |25 79.
10 |24 |89 |16
19 186 |23 |11
93 (31-A)
WWW.SHIKARAT.COM

(1) 25,87 (2)
(3) 13,85 (4)

22,87
22,19

When an article is sold at b rupees
and a paise after purchasing it at a
rupees and b paise, the loss
incurred is ¢ rupees. Then the
correct relation among a, b, ciis

a+b c

(1) =0.99 (2) =0.99
c a+b
3) —S—=099 (4) 2=P_099
a—b c

Aquaregia is

(1) 1HNO,:2HCl

(2) 1 HNO;:3HC

(3) 3 HNO;:1HC

(4) 3 HNO;:2HC

A person joins for a job in January
2001 with a basic salary of

% 10,000 per month with an annual
increment ¥ 500 per annum. He
also gets an additional amount of
¥ 1,000 once in every 4 years.

What was his basic salary in

February 2010 ?
(1) 15,000 (2) 16,000
(3) 17,000 (4) R 16,500

In @ marriage reception 900 guests
are expected to participate. Based
on the experience, it is estimated

that 300 guests will have non-

SHIKARAT



80.

81.

82.

93

vegetarian food, 400 will have
vegetarian food, 140 will have both
veg and non-veg and 50 guests will
depart without tasting any food.
Then the percentage of guests who

tasted vegetarian food is
(1) 60% (2) 44%

(3) 48% (4) 63%

In the following display

2 B |[C |D E 6

each letter represents a digit. If the
sum of any three successive digits
is 15, then the value of E is

(1) o (2) 2

3) 7 (4) 8

wo03ead Sdwo W05° & Spde CMD
adred ?

(1) esdeo ories

(2) 2dowe Bee30°

(3) CBecwdo ToDTT*

(4) vz @ZJ03 Ae)TeIoR*

2013-14 T 3939,03 ©owoRNY
@Zo0zN o033 Tad ead BT,
Zd DB eds, JowodIT Jednv
Berrt o), ?
(1) 13.9%
(3) 15.5%

(2) 20.0%
(4) 18.5%

83.

84.

85.

86.

(32-A)
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J3, mémd Joxex (WTO) ad 2398
DEIY 03y B 3¥B0B eI
0@, 08N eedpe Fo3T ?

(1) 2enid38 ozn% dababriwd

(2) Sewe abadriwd

(3) & B3),AW

(4) T, IJW Aabrwd

‘DS BR), wri S 3¥303 Ao
Bedey) adedrt derad 3,10l ?

(1) cbwedredadrF w80,

(2) e9cHeds2 Joadwd soagﬁ

(3) odw,e3z 3o @o

(4) Bexo

8 3YNS ool 3Bow TonHTI0D

ITOB  RTYE3 m%dd)m BR3
i) ?

(1) 2o Dodeded

(2) SDHDS

(3) Bex3d

(4) 2aded

8 BYNS 0150 ToIID0B DeT3DERD

Doed3RES eJond 39D
ADIA ?

(1) @o¥rbod  (2) REBT

(3) wITR (4) BOd
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88.

89.

81.

82.

93

8 B¥NI alred BedT wadabaly

3 adraNg L ?
(1) Do ded
(3) w30 Ted

(2) 33,0 ded
(4) O§é’d€c3

B Bre08eeeIaro 3 B3y aiyodh ?
(1) e

(2) 306

(3) SwedJe Jpechedd

(4) Bedoon

8 3YNS Jed ob BSJ b BSToIT
GeIAplIalIAl) smeww& 2Jeed o83
0 BTINIY, BIOR.

(1) evef 38R (2) D3R

(3) TR0 (4) ©ef DT
Who is the first CMD of Bharatiya
Mabhila Bank ?

(1) Archana Bhargava
(2) Chanda Kochhar
(3) Renuka Ramanath
(

4) Usha Ananthasubramanyan

According to provisional estimates
of 2013-14, the
contribution of Agriculture and

what is

Allied services to National Income
inIndia ?

(1)
(3)

13.9% 20.0%

(2)

15.5% (4) 18.5%

WWW.SHIKARAT.COM

S

(33-A)

83.

84.

8S.

86.

On the
agreements India vetoed in WTO

which  of following

Bali round ?
(1) Global Customs Rules
(2) Service Rules

(3) Property Rights

(4) Patenting Rules

Where ‘Right to Forget’ ruling was
made recently ?

1) European Union

(

(2) < USA
(3)-. UK
(4) China

Which of the following Kadamba
Princess was married to Punnata
Rashtravarman ?

Vijaya Mahadevi
2) Vasumati
Prabhavati
4) Jayabbe

Which of the following inscriptions
mentions Veerasharma as the
grand- father of Mayura Sarma ?

(1)
(2) Gudnapura
(3) Banavasi
(4) Halasi

Talagunda
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Who among the following was a
disciple of Devara Dasimayya ?

(1) Suggala Devi
(2) Padmala Devi
(3) Jakkala Devi
(4) Lakshma Devi

Who is the author of
Vikramankhobhyadam ?

(1) Bilhana
(2) Kalhana
(3) Someshwara lll
(4) Kesiraja

Name the Arab traveller who

visited Kanauj in the early 10
Century in the following list :

(1) Alberuni (2) Masudi

(3) Al-Bahaduri (4) Al-Madaini
3e0YR0 T0PITT JSToedeerodes
dDIValy  BPerestdce BB
Borte WO BITIY R0BIP BIIIT.
T YD ?

(1) Znedewe FIhIT W@

(2) T9,cd JFeSoF0TT WDTPY

(3) do0a0de D 3RIY

(4) BaleedpedBer Bo, 3 BRIV

IAVDI~ Al ) iataalty) Tone
AW AT LY o ISPV PYATS) méoi)daig(
2BADI emaéédg( DInod D[R

92.

93.

9.

(34-A)
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DTTIRD) TZ,N 2,0TD 5:‘.’)3301)55.3(
030e2ATD. 9T AR ?

(1) SoBe39,cd esadeent

(2) 2 8 LT B3
(3) @o. &8T". Jorigy MR Jebd
(4) QeF. 3. ToI3RT® esadeen

1881 09 32”8 e &SI

JFad dnsoas oVZe3FonT .

(1) SzoTeRT wa&dda&
QA0

(2) DTTT WPBITSI, A BDHHTD

(3) B;Re0I  whes FSabIY
eD),23908 SRJT.

(4) esBL3BBT DedI ameﬁm_)abaixg
VYANPHYD T  IVBFTIRY,
ADBERDFITD

;BP0 8EhAesTeBY, ;R0

(Mefolels W) D B9,80ITD

QTN TeFworh3W. IO

VTS HDHI3R.

(1) 308e38 SBVTe WWAHT®

(2) 23T WwWAHT® V

(3) 33,Bedoo TALHOF

(4) Teg 330 wWoTr I

WY DD OB IPBT® D°
AR 20D BWddD 3ot R)D
092 B%eds D000
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9s.

90.

91.

93

1. 3IDref Ted
2. 209 S Bed)
3. RO Ted
4. BorgD3S Fea

3YNS To vy @B dadbed

VBT VSR
(1) 122
(3) 2@ 4

(2) 1833
(4) 124

303, BWTDO
zs ™

adred ?

(1) eNesyD,

(2) Bymgeodd FpedB0*
(3) TeID, BOBT
(4) Oeerol33 Jond

The Socio-religious movement
which started in Kerala spread to
Karnataka and influenced the
people there to the present day.
Which of the following is the
correct answer ?

(1) Movement by Jyothiba Phule

(2) Movement by Swami

Vivekananda
Movement by Narayan Guru

(3)
(4)

Movement by Theosophical
Society

The Maharaja of Mysore realizing
the need to give social justice to all
classes and communities

WWW.SHIKARAT.COM

33T
DEHFLD BReTIBTD. BTTY 202 T
VB0 BIFE3TY, TeOTID. WTIW

(35-A)

92.

93.

9.

appointed a Committee to do so.
Which of the following is it ?

(1) Venkataswamy Commission

(2) Justice Leslie Miller
Committee

(3) Dr. R. Naganna Gowda
Committee

L.G. Havanur Commission

(4)

The main objective of the
establishment of the
Representative Assembly in

Mysore in 1881 was

(1) To control the power of the
Maharaja.

To curb the authority of the
Dewan.

(2)

To oversee the economic
growth of Mysore.

(3)

(4)

To gauge popular opinion on
administration and watch
and criticize the government.

It is said that modernization of
Mysore had been started by one of
the Wodeyars of Mysore. Point out
the correct answer.

(1)

Kantirava Narasaraja Wodeyar.
(2) Chamaraja Wodeyar— V

(3)

(4) Dodda Krishnaraja Wodeyar — I

Chikkadevaraja Wodeyar

The two daughters of Raja Dahir
captured and sent to Calipha of
Baghdad by Mohammad
Qasim were

lbna
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Parmal Devi
Banumathi Devi

Suraj Devi

W N oPe

Chandramathi Devi

Choose the correct answer from
the code below :

(1) 1and2 (2)
(3) 2and4 (4)

land3
land 4

Freedom struggle was fought by
One of the
North
Karnataka. Point out the correct

Kannadiga women.

following  was  from

answer.
(1) Bhageerathamma

(2) Krishna Bai Pujekar

(3) Devamma Harijan

(4) Leelavathi Magadi

& 3Yt NI TR0 DeseTY
SeTe w0t BeerdIY Tuwe’ D)
‘Dodbeieed”  BPSNYR, . odredd
39,80DATD ?

(1) @D

(2) v &°

(3) ewLRER DY

(4) FPBDT D Dges®
VR DY FowT) 2JTIT
e wZDe JedTe BT
Dorteredahrr e8,e5e0D) ared ?

1. BUd DA BoNeF ewor’

2. TR DR) BIOD

98.

99.

(36-A)
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3. w3 9,250 DA 3oNe* o®

4. woeudert BDrddes® DB
3oNex* ewor’

3INS Do vy ©@dd ke

VTS HDH3R.

(1) 1= 3

(3) 2ab33

(2) 2393
(4) 4393,

8 3YAS DR Jo33ah DerIRD-
YRy e3deedt 3B Beeld0.

1. d Qe dTpeF

2. ©0eVReR DIRTE @

3. edetherf SndDe’

4. WH90 @

3UNS  Todnvay ©@dd ke
VBT HDH3R.

(1) 1,2,32=@4 (2) 1,423
(3) 2,4,1d33 (4) 3,1,24

Be3-| DR BNl <y BoodS IO
D) YT ZeBIT RWoded WY

JOadred evET esad), Jyed.
e - | 33—l
(3208riwD) (B)eedrizxb)
a. 33 1 LA
b. cifacg ziag, 2 [JlerTai¥)
C. CLp) d)dé 3 ~ewd
d. @Ge3adnoc® 4 TR 3
rfelo\\ria) woaiéoi)ﬁg( 20830 :
a b C d
(1) 2 1 3 4
2) 2 3 1 4
B) 2 4 3 1
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(4) 3 2 1 4 3.  Qutulugh Khwaja and Chengiz
Khan

100. 1 e a%o'bﬁ& Il S Bedodeobri 4. Ala-uddin Tarmashirin and
2Bee8d0. Chengiz Khan
Ded - 1 B3 - Il Choose the correct answer from
2 dFdoy i Ded0d 33, the codes below :
b avRFay, il ”ed SEbri (1) 1and3  (2) 2only
3) 2and3 4) 4onl
C. BBV il @TANS FIRARD () 2an (4) 4 only
Fepet SO0 G 98. Arrange the following Sultans of
d. wR-TBT?  iv. AVIDT FoRAD Slave dynasty in descending order :
305003 1.  Rukhmuddin Firoz
SIS 2. Allauddin Masud Shah
e. de-JB09 V. TRINY DOV 3.  Nasiruddin Mahmud
"Bl Boad, 0D, 2eeBIB : 4. . Behram Shah
a b ¢ d e Choose the correct answer from
(1) i v i i iv the codes below :
2) v i i v i (1) 1,2,3and4 (2) 1,4,2and3
(3) i veive i (3) 2,4,1and3 (4) 3,1,2and4
(4) i [ iii (VAR \Y,

99. Match the List-l and List-ll and
select the correct answer by using
the code given below :

List-1 (Peaks) List-1l (Range)

96. Who among the following Sultans
of Delhi introduced the practice of
‘Sajda’ and ‘Paibose’ in Darbar for
the first time ?

(1) Iltutmish a. Gurushikhar 1. Annamalai
(2) Balban b. Doddabetta 2. Aravalli
(3) Ala-Uddin Khilji c. Annamalai 3. Nilgiri
(4) Mohammed-Bin-Tughlaqg d. Dhupgarh 4. Satpura
Choose correct code :
a b C d
97. Who among the following 0 L 3 a4
Mongolian invaders did not invade (1)
India during Ala-uddin Khilji’s (2) 2 3 1 4
period ? B) 2 4 3 1
1.  Halaku and Chengiz Khan 4 3 2 1 4

2. Salda and Halaku
93 (37 - A)
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100. Match List-1 with List-Il

List-I
a. Silsila

b. Khanquah
c. Wahadat-
ul-Wazud

d. Ba-Sahara

e. Be-Sahara

List-ll
Doctrine of
Unity of Being
Sufi order

iii. Orders

following
Islamic Law
Orders not
following
Islamic Law
Residences of
Sufis

Choose correct code :

a b
(1) i Y
(2) v i
(3) iii v
(4) i i
93
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C
i
iii
iv

d e
i v
iv i
i ii
vV v

(38-A)
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L __ S BERAZowT, Iookeod Vert SVEHINS AGmy SOoRTRE.
Saent sotat DEo®H Foe3: 93
A RO WFOPT
(FE3-)
NOF Tepo®k ¢ 1 1/2 moednes nog wosnys 3 100
TRWINGS

—

me% GapkefelN g oleled 3%5@5@ £,.20.650°. QUZT HoYoD BB, T F Beedod THTHRD FIVE0E

BRTD, B3 TF, DRTODS T0H FTNT WFeT0 TOOTOT WF0 03T T3 AYHTOT T

TNE,BNT BF N REICORA LIRROBYR0LLTIY Ve TOLT ASTID. 26O 03P TC BRCR

B0mRIOTE) TR, B0BTOHNY @00 Beedodd BOTPEIE T 2363 BB, YRFODY, BEODIER.

2. oylfeom T3 DRTOD :)’0935, TTED® 30w’ A, B, C 050 D o), QoD Roded eh3y Sc0med
ﬂo@%ojgabd OMR 03T B&Fo0d ©&EF)N LWBNAINTR é’%ﬁcﬁ@ W3 OB (R FRCEY)
ed=desd. Tnw Sﬁaéé’@d@ T8y 0T HOET, TTL A BPRTI BT, 22 wé%&agd‘}ea
£,.20.650%. BP0 SPATOT 03T 0 S0NTY, HIBE TIETHT/RD® BeTe® TIVETI TR
W RENY %ELROOIPNTOZE. 2,080 &ed IBE BREOTE/BLTO W03 £..00.650°. YZT
TOYODT), BTRDTLRTORIT.

3. BT wENATOE OFELE A, a‘i‘raeomé7503.*3230535;;l
TRIAIED. BB, FYFOD 2363 DTIR, WITOIIRTT..

4. 83 TB DT 100 TZNIS, 2.9NRROBTIR. T,2030000 T30 4 YUFTNYRY, .9 0RTHIZE.
ey YVZT TG, FoDHE THTLHZBL PTELIFORIRE LVITTY, 503, m@@@% 2,00 3¢ 98 2.0838,08
), AOOIRT YVZTTIRI0H0TN. AP RNATT BTN YVZTF, THTOD TR D¢ STWIR
3,8 TN Y SO 20w YT, 23393, 3030, 30 ceede 0.

5. QR YUZTNTRY, Aedn LENFURNTOE @%@a’ YVZT BEF0DE) (OMR Sheet) T Fagh, WFaw Ned ToWOD
WS kot BYTO w5, THTHE SR EeIED. YWFT BLF TIFoHOT BABSTHRY, MV T.

6. QU TJINOM TSN woINW. B ), 0T, 0.25 woINYy TRSRAITUMHZH. QR BINdNR
YUZORD.

7. ¥ FUTTLN TIINYIY T3, WRTOD FeFoNd HedFRNE. TZF)YTon amPE o3
2PNTOOIR AeeY 033953 DEBOH THTOTTY, SNPEST,TY.

8. wbe'a;oja S0TYODTRY, AAWAET 08 03 2790 T 3%9@& VT TG FOH TFODE AT TE
TOTOBTIEH T, 3@%’&3%’3.:}053@%@& 2007 e, §T0E YT TFOH TIFODR), B, 33,
3ncndeom J83, gﬁmé’m%ﬁ%ﬁwzﬁm e, e, FATEO0de BHSTST,.

9. TINH TJE =Y woTy LRRoPOTE. IFPE TINYY TokeT YLotiTT, Ty, SoTy LRROD
TINYRY MW, T3, BLFoD BINYY omde neomondgon womeeRod &3 nve
©0dTNTONTIZE.

OIRFHTE De2oB» R L FREa®, Tyt TUTT Ty AT dedoDd aeﬁ% NERESSRNE Y

THING ATYANTT BOT, 0TT SHTRBRYT STHRTITY VRHIT.

Secomed z;‘os%

93-A

Note : English version of the instructions is printed on the front cover of this booklet.
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